Solicitation No: ITB# PWD/241018	Email: ljoseph@ocalafl.gov	Watching: 11
ProRFx Type: ITB Services	Contact Phone: 352-629-8260	Bids: 9

Bid Name: Stormwater DRA Grounds Maintenance - Southeast

	Ver	ndor Name:		arm Mowing	Sol	o Cats		Rock's Handy n Service, LLC	Sulter Precisi *Currently I DR	nave the NE	Inshape Ma	aintenance, Inc	A Native Tree	e Service, Inc	Dragonfly P LLC* Termin unfor circunst	ated due to eseen	Top Qual Mainte	•		n, Inc d/b/a lutions, Inc
		Location:	Bellev	riew, FL	Oca	ala, FL	Oca	la, FL	Ocal	a, FL	Oc	ala, FL	Mian	ni, FL	Raleig	gh, NC	Ocal	a, FL	Lake C	City, FL
Item #	Property/Address	Cuts Per Year	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost	Cost Per Cut	Extended Cost
PWD/SE 01	DRA #266 SE 2nd St & SE 32nd Ave Mow top & slopes to fencelines to the West & North. Mow to the road to the East & South. Weedeat both fencelines, around all trees, structures, signs, etc Brushback around trees, fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 30.00	\$420.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$77.20	\$1,080.80	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	132.93	\$1,861.02
PWD/SE 02	DRA #258 SE 5th Pl & SE 34th Ave (Enter through alleyway off of 34th Ave) Mow top & slopes to fencelines to the North,East, and South. Mow to woodline on West side. Weedeat all fencelines, around trees, structures, signs, etc Brushback growth around trees, on fencelines, and any encroachment from West woodline	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 80.00	\$1,120.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$170.30	\$2,384.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	177.08	\$2,479.12
PWD/SE 03	DRA #219 Next to 3738 SE 4th St Mow top & slopes to all inside fencelines. Weedeat	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$304.40	\$4,261.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	208.89	\$2,924.46
PWD/SE 04	DRA 218 SE 3rd St & SE 39th Terr Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc Mow outside from South & West fencelines to the road. Weedeat both outside fencelines, around trees, structures, trees, etc Brushback fencelines, around trees of any growth or overhanging		\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 35.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$119.30	\$1,670.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	215.22	\$3,013.08
PWD/SE 05	DRA# 202 Next to 4354 E. Fort King St Mow top, slopes, and bottom West to woodline, East to fencline, South to markers/ballards & North to road. Weedeat around poles, trees, structures, etc Edge sidewalk & driveway	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 30.00	\$420.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$129.65	\$1,815.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	196.23	\$2,747.22
PWD/SE 06	DRA #201 Enter between 4517 & 4527 SE 4th Pl Mow top, slopes, and bottom to North, East, South, and West main property lines of DRA parcel #2779+001-009. Mow easement Between 4517 & 4527 NE 4th Pl. Weedeat any fencelines, around strucutres, trees, etc Edge curbing along entrance.	14	\$ 84.00	\$1,176.00	\$ 84.00	\$1,176.00	\$ 100.00	\$1,400.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$131.20	\$1,836.80	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	484.96	\$6,789.44

PWD/SE 07	DRA #216 SE 8th St & SE 36th Ave (North DRA) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around structures, trees, etc Mow outside from South fence to road & outside West fence to sidewalk. Weedeat both outside fencelines, around trees, signs, strucutres, etc. Edge sidewalk & small section of curbing. Brushback fencelines & around trees of any growth or overhanging	14	\$ 97.00	\$1,358.00	\$ 97.00	\$1,358.00	\$ 120.00	\$1,680.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$200.00	\$2,800.00	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	302.9	\$4,240.60
PWD/SE 08	DRA #217 SE 8th St & SE 36th Ave (South DRA) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc Weedeat both sides of island in the middle down to water. Mow outside from North fence to the road & outside West fence to sidewalk. Weedeat both outside fencelines, around trees, structures, signs, poles, etc Edge sidewalk & small section of curbing. Brushback fencelines & around trees of any growth or overhanging.	14	\$ 304.00	\$4,256.00	\$ 304.00	\$4,256.00	\$ 350.00	\$4,900.00	\$300.00	\$4,200.00	\$165.00	\$2,310.00	\$281.90	\$3,946.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	945.98	\$13,243.72
PWD/SE 09	DRA #221 SE 8th St & SE 44th Ave Mow top & slopes to all inside fencelines (both upper & lower DRAS) Weedeat all inside fencelines, around trees, structures, etc Mow outside from South & East fences to road. Weedeat both outside fencelines, around poles, structures, signs, etc Edge South side sidewalk. Brushback fencelines & around trees of any growth or overhanging	14	\$ 84.00	\$1,176.00	\$ 84.00	\$1,176.00	\$ 90.00	\$1,260.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$143.20	\$2,004.80	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	263.29	\$3,686.06
PWD/SE 10	DRA #206 SE 10th Pl & SE 50th Terr Mow & top & slopes to all inside fencelines. Weedeat all inside fencelines, arounds trees, strucutres, etc Mow outside from North & West fencelines to the road. Weedeat both outside fencelines, around poles, signs, structures, etc Edge curbing along West & North road. Brushback fencelines & around trees of any growth or overhanging.	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 100.00	\$1,400.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$127.00	\$1,778.00	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	184.07	\$2,576.98
PWD/SE 11	DRA #205 SE 10th Pl & SE 49th Ave (Summerton) Mow top & slopes to driveway to the North, West to the road, South to property line of parcel # 29683- 001-04, and East to woodline. Weedeat around trees, signs, strucutres, etc Edge sidewalk & Miami curbing on West side, & Driveway on North Side	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 100.00	\$1,400.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$154.00	\$2,156.00	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	209.7	\$2,935.80
PWD/SE 12	DRA #204 SE 12th Pl & SE 48th Ave (Summerton) Mow top & slopes to North & South fencelines, west to woodline, and East to road. Weedeat North & South fencelines, around trees, structures, signs etc Weedeat Sidewalk & Miami Curbing along road from North driveway to Southeast driveway. Brushback woodline of any encroachment towards DRA parcel	14	\$ 97.00	\$1,358.00	\$ 97.00	\$1,358.00	\$ 100.00	\$1,400.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$150.90	\$2,112.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	302.9	\$4,240.60

PWD/SE 13	DRA #203 SE 15th St & SE 48th Ave Mow top & slopes to North & East poperty lines of DRA parcel #29689+003-08, West & South to road. Weedeat around trees, signs, structures, etc Edge sidewalk, driveway & Miami curbing along road	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 60.00	\$840.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$146.30	\$2,048.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	128.15	\$1,794.10
PWD/SE 14	DRA #208 SE 15th St & SE 44th Ave (Behind 1508 SE 44th Ave) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines. Mow 1 pass around outside of North, West, and South fences. Weedeat outside fencelines. Mow easment between 1502 & 1508 SE 44th Ave. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 60.00	\$840.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$93.65	\$1,311.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	146.79	\$2,055.06
PWD/SE 15	DRA #207 SE 14th St & SE 44th Ave (Behind 1406 SE 44th Ave) South gate can be accessed from North Gate of DRA 208. Mow top & slopes to all inside fencelines. Weedeat all inside fencelines. Mow 1 pass around North, West, and South fence. Weedeat outside fencelines. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$123.85	\$1,733.90	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	259.53	\$3,633.42
PWD/SE 16	DRA #211 SE 14th Pl & SE 39th Ct (NOLA) Enter through easement left of 3939 SE 14th Pl Mow top & slopes to all inside fencellines. Weedeat all inside fencellines. Mow easement from fence to road between parcel #'s 29627-000-05 & 29627-000-06. Weedeat West fenceline along easement. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 30.00	\$420.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$97.30	\$1,362.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	145.59	\$2,038.26
PWD/SE 17	DRA #210 SE 14th PL & SE 40th Ct Mow top & slopes to North & West property lines of DRA parcel #2962+001-009 and to East & South fencelines. Weedeat all inside fencelines, around trees, structures, etc Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$122.10	\$1,709.40	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	310.17	\$4,342.38
PWD/SE 18	DRA # 209 SE 13th St & SE 42nd Ave Mow top & slopes to North woodline, East to fenceline, and to the road to the West and South. Weedeat East fenceline, around trees, structures, signs etc Edge large concrete flume on South side & curbing on West side. Brushback fenceline of any growth or overhanging, and North woodline of any encroachment towards DRA parcel. Also mow the North wood line off SE 12th Pl	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 50.00	\$700.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$134.60	\$1,884.40	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	256.3	\$3,588.20
PWD/SE 19	DRA #222 SE 13th St & SE 44th Ave Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, signs, poles, etc Mow outside South & East fencelines to road. Weedeat outside fencelines, around poles, signs, etc Edge Miami Curbing along South & East sides. Brushback fencelines & around trees of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 175.00	\$2,450.00	\$125.00	\$1,750.00	\$165.00	\$2,310.00	\$279.10	\$3,907.40	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	531.24	\$7,437.36

PWD/SE 20	DRA # 227 Behind 1751 SE 43rd Terr Mow easment from road to DRA fence between parcel #'s 2960-006-006-004 & 2960-006-005 Weedeat fencelines along easement. Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, structures. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$101.30	\$1,418.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	265.86	\$3,722.04
PWD/SE 21	DRA # 226 SE 17th St & SE 42nd Ave (Just North of 17th on 42nd) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines. Mow outside from East fence to road. Weedeat outside fenceline. Edge curbing along road. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 20.00	\$280.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$88.90	\$1,244.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	107.61	\$1,506.54
PWD/SE 22	DRA # 212 SE 17th Ln & SE 39th Terr Mow top & slopes including ramp to all inside fencelines. Weedeat all inside fencelines, around structures, trees, etc Mow outside from East fence/gate to road. Weedeat outside fenceline. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$125.25	\$1,753.50	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	284.85	\$3,987.90
PWD/SE 23	DRA # 213 SE 38th Ave & SE 21st Pl Mow top & slopes including island to poperty lines of DRA parcel # 2955+000-000. Mow to road along SE 21st pl. Weedeat fencelines to the East, around trees, structures, signs, etc Brushback fencelines of any growth or overhanging & woodlines of any encroachment towards DRA parcel.	14	\$ 135.00	\$1,890.00	\$ 135.00	\$1,890.00	\$ 150.00	\$2,100.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$307.45	\$4,304.30	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	421.73	\$5,904.22
PWD/SE 24	DRA # 215 SE 17th St & SE 36th Ave (North DRA) Mow top & slopes to North property line/ tree line of DRA parcel #2954+005-005. Mow East & South to road and West to sidewalk. Weedeat around trees, signs, structures, lift station fence, etc Edge sidewalks & driveway to the West & South and curbing to the South & East. Brushback around trees of any growth or overhanging & North woodline of any encroachment towards to the DRA parcel	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 80.00	\$1,120.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$192.30	\$2,692.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	191.06	\$2,674.84
PWD/SE 25	DRA # 214 SE 17th St & SE 36th Ave (South DRA) Mow top & slopes to road on the NW corner, to woodline/fencelines to the North, fencelines to the East & South and to sidewalk to the West. Mow all of middle island. Weedeat all fencelines, around trees, structures, signs, etc Edge Sidewalk along West & North side & curbing along North side. Brushback fencelines & around trees of any growth or overhanging	14	\$ 519.00	\$7,266.00	\$ 519.00	\$7,266.00	\$ 650.00	\$9,100.00	\$450.00	\$6,300.00	\$165.00	\$2,310.00	\$531.30	\$7,438.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	1614.69	\$22,605.66
PWD/SE 26	DRA #265 Next to 3401 SE 16th St (DRA at Dead End) Mow top & slopes from dead end east to fenceline & from fencelines to the North & South. Weedeat all fencelines, around trees, poles, signs etc Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 20.00	\$280.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$97.75	\$1,368.50	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	125	\$1,750.00

PWD/SE 27	DRA # 356 Behind 2103 SE 39th Ave Enter to left of driveway (Summerset) Mow top and slopes to all fencelines /property lines surronding DRA parcel #29638+001-00. Weedeat all surronding fencelines, around structures. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 20.00	\$280.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$223.85	\$3,133.90	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	736.28	\$10,307.92
PWD/SE 28	DRA #251 2500 Blk of SE 36th Ave (2 DRAs next to the Credit Union) Mow top & slopes to North property line of DRA parcel #29733+003-00, west to road, south to road & property lines of parcel #29733-003-02, and East to property line of Fire Station #2. Weedeat around trees, signs, poles, structures etc Edge sidewalk on the west side Brushback around trees/woodlines of any growth, encroachment, or overhanging	14	\$ 140.00	\$1,960.00	\$ 140.00	\$1,960.00	\$ 195.00	\$2,730.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$207.65	\$2,907.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	435.71	\$6,099.94
PWD/SE 29	DRA #225 SE 18th St & SE 32nd Ave (Across from health department) Mow top & slopes to North, West, and East fencelines. Mow top & North side of island on the South end. Weedeat all inside fencelines, around trees, stuctures, etc Mow outside East fence from fence to road. Weedeat outside fenceline. Edge curbing & driveway along road. Brushback fencelines of any growth or overhanging	14	\$ 252.00	\$3,528.00	\$ 252.00	\$3,528.00	\$ 300.00	\$4,200.00	\$200.00	\$2,800.00	\$165.00	\$2,310.00	\$426.90	\$5,976.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	785.21	\$10,992.94
PWD/SE 30	DRA # 224 SE 18th St & SE 30th Ave (Across from Baptist Church) Mow top & slopes to East fenceline, South to treeline, West to the road, and North to property line of DRA parcel #29505+000-01. Weedeat fencelines, around trees, signs, poles, structures, etc Edge curbing & driveway on West side. Brushback fencelines of any growth or overhanging	14	\$ 102.00	\$1,428.00	\$ 102.00	\$1,428.00	\$ 100.00	\$1,400.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$232.95	\$3,261.30	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	319.21	\$4,468.94
PWD/SE 31	DRA #223 SE 17th St & SE 30th Ave Mow top, slopes, and bottom North & West to road, South to fenceline & East to property line of DRA parcel #29505+000-04. Weedeat fencelines, around poles, signs, structures, etc Edge curbing on West side and sidewalk on North side	14	\$ 80.00	\$1,120.00	\$ 80.00	\$1,120.00	\$ 200.00	\$2,800.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$118.80	\$1,663.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	251.14	\$3,515.96
PWD/SE 32	DRA #233 SE 30th Ave & SE 14th St (2 DRAS Mow top & slopes to all insides fencelines. Weedeat all inside fencelines, around trees, structures, etc Mow outside from West fence to road. Weedeat outside fenceline, around poles, structures, etc Brushback fencelines of any growth or overhanging	14	\$ 165.00	\$2,310.00	\$ 165.00	\$2,310.00	\$ 200.00	\$2,800.00	\$125.00	\$1,750.00	\$165.00	\$2,310.00	\$244.65	\$3,425.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	512.6	\$7,176.40
PWD/SE 33	DRA #232 1600 Blk of SE 25th Ave Mow top & slopes to North,West,and South fencelines, East to sidewalk. Weedeat all fencelines, around trees, signs. Edge sidewalk & driveway on East side. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 50.00	\$700.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$125.70	\$1,759.80	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	118.83	\$1,663.62

PWD/SE 34	DRA # 236 SE 14th St & SE 25th Ave Mow top & slopes North to fenceline, East, South, and West to road. Weedeat North fenceline, around trees, signs, structures, etc Edge curbing on West & South sides, Edge sidewalk & driveway on South and East Side. Brushback fencelines & around trees of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 25.00	\$350.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$190.90	\$2,672.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	125	\$1,750.00
PWD/SE 35	DRA #231 SE 12th St & SE 24th Terr Mow top & slopes to North fenceline, East to wall, South to woodline, and West to road. Weedeat fenceline, along wall, around trees, structures, poles, etc Brushback fencelines, woodline & around trees of any growth, overhanging, or	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$174.80	\$2,447.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	259.53	\$3,633.42
PWD/SE 36	DRA #262 Lot next to 1614 SE 8th St Mow entire lot from West tree line to East treeline & from road to South fencelines. Weedeat fencelines, around trees, structures, signs, etc Edge curbing & driveway along North side. Parcel #'s for location are 2883-002-006 & 2883-002-007	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$150.90	\$2,112.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	284.85	\$3,987.90
PWD/SE 37	DRA #270 SE 7th St & SE 13th Ave. Mow top & slopes West to road, South & East to fencelines/woodline. Mow north to property line of parcel # 2836-001-003. Weedeat around trees, structures, signs, etc Edge curbing & flume along West side & driveway on South side.	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$185.60	\$2,598.40	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	135.14	\$1,891.96
PWD/SE 38	DRA #228 Next to 426 SE 12th St (Both DRAS) SMALL DRA, Mow tops & slopes to East & West fencelines, Mow North to road, South to woodline. Weedeat fencelines, around trees, structures, signs, etc. Edge curbing along road. LARGE DRA, Mow top & slopes to South woodline, Mow North & East to bordering property lines, woodlines of DRA parcel. Weedeat around trees, fencelines, structures, etc Brushback both ponds fencelines/treelines of any growth, overhanging or encroachment towards the DRA parcel	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 90.00	\$1,260.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$159.00	\$2,226.00	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	363	\$5,082.00
PWD/SE 39	DRA #230 SE 16th St & SE 10th Ave Mow top & slopes North to road, South to fenceline, East & West to property lines of DRA parcel # 2937+010-005. Weedeat fencelines, around trees, structures, signs, poles, etc Edge concrete flume coming off of road toward DRA. Brushback fencelines of any growth or overhanging	14	\$ 176.00	\$2,464.00	\$ 176.00	\$2,464.00	\$ 200.00	\$2,800.00	\$125.00	\$1,750.00	\$165.00	\$2,310.00	\$178.75	\$2,502.50	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	547.55	\$7,665.70
PWD/SE 40	DRA #235 Next to 1360 SE 18th Pl Mow top & slopes North to road on 19th St & 18th Pl, East & West to property lines of DRA parcel #28623+000-00 & South as far back as can bereached. Weedeat fencelines, around trees, pumps, structures, signs, poles, etc Edge curbing along both roads. Brushback around trees or fencelines of any growth or overhanging	14	\$ 177.00	\$2,478.00	\$ 177.00	\$2,478.00	\$ 200.00	\$2,800.00	\$125.00	\$1,750.00	\$165.00	\$2,310.00	\$202.70	\$2,837.80	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	549.88	\$7,698.32

PWD/SE 41	DRA #256 SE 18th PL & SE 11th Ave (Enter off 11th next to R/R tracks) Mow Entire area of parcel #3037+003-000 including top & slopes to all inside fences. Weedeat all inside fencelines, Weedeat outside of South fenceline. Brushback fenceline/woodline of any growth, overhanging, or encroachement towards parcel	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 20.00	\$280.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$224.85	\$3,147.90	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	125	\$1,750.00
PWD/SE 42	DRA #257 SE 17th Pl & SE 3rd Ave Mow top & slopes, and bottom to Road on North, West, and East sides. Mow to woodline/fenceline to the south. Weedeat fenceline, around trees, structures, signs, etc Edge sidewalk on West side. Brushback around trees of any growth or low hanging. Mow entire parcel 2921- 102-010	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$208.55	\$2,919.70	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	251.14	\$3,515.96
PWD/SE 43	DRA #237 SE 19th St & SE 7th Ave Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc Mow outside from North Fence to road. Weedeat North fenceline, arounds signs. Brushback fencelines of any growth or overhanging	14	\$ 133.00	\$1,862.00	\$ 133.00	\$1,862.00	\$ 150.00	\$2,100.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$336.70	\$4,713.80	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	414.74	\$5,806.36
PWD/SE 44	DRA #238 Behind 638 SE 21st Pl (Enter through easement between 638 & 635) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures etc Mow easement from road to DRA fence. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$203.15	\$2,844.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	215.22	\$3,013.08
PWD/SE 45	DRA #239 Across from 823 DE 22nd St (Fisher Park) Mow top & slopes to road on North & South sides & to boundary markers to the East & West. Weedeat around any signs, poles, strucutres, pumps, hoses etc Edge sidewalks/structures that fall within boundary of DRA	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 100.00	\$1,400.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$257.00	\$3,598.00	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	228.34	\$3,196.76
PWD/SE 46	DRA #255 SE 21st St & Lake Weir Ave Mow top & slopes North to the road, West & South to the sidewalk, and East to woodline. Weedeat around trees, signs, structures, poles, etc Edge sidewalk to the west & Curbing to the North. Brushback around trees & woodline of any growth or encroachment to DRA parcel	14	\$ 120.00	\$1,680.00	\$ 120.00	\$1,680.00	\$ 150.00	\$2,100.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$304.40	\$4,261.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	375.13	\$5,251.82
PWD/SE 47	DRA #145 Lake Weir Ave & SE 29th St (Next to school) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, poles, structures, etc Mow outside West fence to sidewalk. Weedeat outside fenceline, around poles. Edge sidewalk & driveway along road. Brushback fencelines of any growth or overhanging	14	\$ 224.00	\$3,136.00	\$ 224.00	\$3,136.00	\$ 250.00	\$3,500.00	\$125.00	\$1,750.00	\$165.00	\$2,310.00	\$339.95	\$4,759.30	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	696.67	\$9,753.38

PWD/SE 48	DRA #243 Next to Fire Station 7 on SE 31st St. Mow top, slopes, including small DRA behind firestation & overpass slope North & East to woodline, South to top of overpass, and West to property line of DRA parcel #30338+000-00. Weedeat around trees, signs, guardrail, structures, etc Brushback treelines of any gowth encroaching DRA parcel.	14	\$ 145.00	\$2,030.00	\$ 145.00	\$2,030.00	\$ 150.00	\$2,100.00	\$125.00	\$1,750.00	\$165.00	\$2,310.00	\$209.10	\$2,927.40	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	407.75	\$5,708.50
PWD/SE 49	DRA #260 At 3 way of SE 1st Ave & SE 3rd Ave Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, etc Mow outside from South fence to road. Weedeat outside fenceline, around trees, signs, structures, etc	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 50.00	\$700.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$221.15	\$3,096.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	146.79	\$2,055.06
PWD/SE 50	DRA # 153 SE 31st St between 441 & CR 474 (South side of 31st) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures. Mow outside from North fenceline to road. Weedeat outside fenceline, around poles, structures. Edge sidewalk & driveway along road. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 100.00	\$1,400.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$255.35	\$3,574.90	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	212.03	\$2,968.42
PWD/SE 51	DRA #263 Enter down road between parcel #'s 30165-000-00 &29870-001-00. DRA is through gate at dead-end next to lift station. Mow top & slopes to surronding woodlines. Weedeat around structures.	14	\$ 76.00	\$1,064.00	\$ 76.00	\$1,064.00	\$ 100.00	\$1,400.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$331.60	\$4,642.40	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	237.66	\$3,327.24
PWD/SE 52	DRA #241 At dead end of SE 10th Ave off of 441. (Shadow Oak Mobile Home Park) Mow top & slopes North to overpass wall, East to R/R tracks, South to fencelines, and West to road. Weedeat along overpass wall, fencelines, around trees, structures. Brushback fencelines, overpass	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$138.25	\$1,935.50	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	278.52	\$3,899.28
PWD/SE 53	DRA # 242 SE 31st St & Lake Weir Ave (Large DRA on corner including wooded lot) Mow top & slopes North to road/overpass wall, East to road, South to fencelines, and West to woodline. Weedeat all fencelines, overpass wall, around trees, structures, signs, poles, etc Edge sidewalks, driveways, curbs & around lift station. Brushback around trees, fencelines, woodlines of any growth, overhanging, or encroachment towards DRA parcel	14	\$ 362.00	\$5,068.00	\$ 362.00	\$5,068.00	\$ 400.00	\$5,600.00	\$350.00	\$4,900.00	\$165.00	\$2,310.00	\$265.35	\$3,714.90	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	1125.39	\$15,755.46
PWD/SE 54	DRA # 247 SE 31st St & SE 19th Ave Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures. Mow outside North & East fencelines to the road. Weedeat outside fencelines, around signs, structures, etc Edge sidewalks, curbing, driveway on North & East side. Brushback North, West, and East fencelines of any growth or overhanging. DO NOT BRUSHBACK SOUTH FENCELINE	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 100.00	\$1,400.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$319.25	\$4,469.50	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	230.67	\$3,229.38

PWD/SE 55	DRA #245 SE 31st St & SE 19th Ave Mow top, slopes, and bottom West & South to road. North to woodline. East to fencelines/woodlines. Weedeat fencelines, around trees, poles, signs, structures, flowerbeds etc Edge all sidewalks around walking trail & curbing along West & South roads.	14	\$ 595.00	\$8,330.00	\$ 595.00	\$8,330.00	\$ 700.00	\$9,800.00	\$500.00	\$7,000.00	\$165.00	\$2,310.00	\$1,756.25	\$24,587.50	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	3438.02	\$48,132.28
PWD/SE 56	DRA # 368 2000 Blk of SE 31st St (Across from DRA 245) Mow top & slopes North to road, West & South to fencelines. Weedeat fencelines, around trees, structures, signs, etc Edge sidewalk & curbing along road. Brushback fencelines of any growth or overhanging DRA 368 & 369 share same parcel #2990+001-008	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 20.00	\$280.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$183.20	\$2,564.80	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	186.4	\$2,609.60
PWD/SE 57	DRA # 369 2100 BLK of SE 31st St Mow top & slopes North to road, west to DRA 368, South to fencelines & property line of parcel #2990-001-023, and West to road. Weedeat fencelines, around trees, structures, signs, poles, etc Edge sidewalk, curbing & driveway along road. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 50.00	\$700.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$224.65	\$3,145.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	146.79	\$2,055.06
PWD/SE 58	DRA # 248 SE 31st Pl & SE 23rd Ave (Hunters Ridge) Mow top & slopes North to retaining wall/sidewalk, West to sidewalk, South to fenceline, and East to property line of DRA parcel #29862+000-01. Weedeat fenceline, around trees, poles, signs, structures, etc Edge along reatining wall on North side, DRA side of sidewalk of West side, and Miami curbing along road inside neighborhood.	14	\$ 126.00	\$1,764.00	\$ 126.00	\$1,764.00	\$ 150.00	\$2,100.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$260.10	\$3,641.40	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	391.44	\$5,480.16
PWD/SE 59	DRA # 249 SE 33rd Pl & SE 24th Terr (Hunters Ridge) Mow top & slopes to property lines of DRA parcel # 29862+000-02. Mow to road on front side, Weedeat fencelines, around structures, signs, etc Edge curbing along road. Brushback fencelines/treelines of any growth, overhanging, or encroachment.	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 50.00	\$700.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$149.50	\$2,093.00	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	297.51	\$4,165.14
PWD/SE 60	DRA #244 Next to 2614 SE 25th Ct (Forest Park) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures etc Mow triangular piece outside of gate to road. Weedeat outside fenceline. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 20.00	\$280.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$264.35	\$3,700.90	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	186.4	\$2,609.60
PWD/SE 61	DRA #250 SE 27th Ave & SE 28th St (Quail Hollow) Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around trees, structures, pump station etc Mow outside West fence to road. Weedeat outside fenceline. Edge Miami curbing along road & large flumes in the center and far back. Brusback fencelines of any growth or overhanging	14	\$ 90.00	\$1,260.00	\$ 90.00	\$1,260.00	\$ 100.00	\$1,400.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$286.30	\$4,008.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	281.93	\$3,947.02

PWD/SE 62	DRA #370 SE 31st St & SE 30th Terr Mow top & slopes to all inside fencelines. Weedeat all inside fencelines around trees, strucutres, etc Mow outside North fence to road. Weedeat outside fenceline, around signs, poles, structures, etc Edge sidewalk, driveway & curbing along road. Brushback fencelines of any growth or overhanging	14	\$ 179.00	\$2,506.00	\$ 179.00	\$2,506.00	\$ 200.00	\$2,800.00	\$125.00	\$1,750.00	\$165.00	\$2,310.00	\$373.60	\$5,230.40	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	556.87	\$7,796.18
PWD/SE 63	DRA #371 SE 31st St & SE 31st Terr Mow top & slopes North,East, and West to road, South to fencelines. Weedeat all fencelines, around poles, structures, etc Edge sidewalk & curbing along road. Brushback fencelines of any growth or overhanging	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 40.00	\$560.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$196.20	\$2,746.80	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	125.82	\$1,761.48
PWD/SE 64	DRA # 372 SE 31st St & SE 32nd Ave Mow top, slopes, and bottom North & West to the road, South to fencelines, and East to end of South fencelines. Weedeat fencelines, around poles, signs, structures, etc Edge sidewalk & curbing along road. Brushback fencelines of any growth or overhanging. Mow entire parcel 2982+011-005	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 20.00	\$280.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$182.30	\$2,552.20	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	177.24	\$2,481.36
PWD/SE 65	DRA # 373 SE 31st St & SE 34th Ct Mow top, slopes, and bottom North, East, and West to the road, South to property line of parcel #2981+002-003. Weedeat fencelines, around poles, signs, structures, etc Edge sidewalk, driveway, and curbing along road. Brushback treeline of any growthor overhanging encroaching DRA parcel	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 100.00	\$1,400.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$179.65	\$2,515.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	385.37	\$5,395.18
PWD/SE 66	DRA # 374 SE 31st St & SE 36th Ave Mow top, slopes, and bottom North, East, and West to road, South to fencelines/treelines. Weedeat fencelines, around poles, signs, structures, etc Edge sidewalk, driveway, curbing along road. Brushback fencelines/treelines of any growth, overhanging, or encroachment towards DRA parcel	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 30.00	\$420.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$198.55	\$2,779.70	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	158.25	\$2,215.50
PWD/SE 67	DRA # 252 SE 31st St & SE 36th Ave (Both Ponds) Mow top & slopes North & West to woodline/fenceline, South & East to Road. Weedeat fencelines, around trees, signs, structures, etc Edge sidewalk & driveway along road. Brushback fencelines/woodlines of any growth, overhanging or encroachment towards DRA parcel	14	\$ 84.00	\$1,176.00	\$ 84.00	\$1,176.00	\$ 100.00	\$1,400.00	\$100.00	\$1,400.00	\$165.00	\$2,310.00	\$303.00	\$4,242.00	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	260.96	\$3,653.44
PWD/SE 68	DRA # 253 SE 31st St & SE 36th Ave Mow top & slopes to all inside fencelines. Weedeat all inside fencelines, around structures, etc Mow outside West fence to sidewalk, Outside South & East fence to road. Weedeat outside fencelines, around structures, poles, signs, etc Edge curbing, sidewalk & driveway along road. Brushback fencelines of any	14	\$ 264.00	\$3,696.00	\$ 264.00	\$3,696.00	\$ 280.00	\$3,920.00	\$200.00	\$2,800.00	\$165.00	\$2,310.00	\$490.05	\$6,860.70	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	820.16	\$11,482.24

PWD/SE 69	DRA # 375 SE 31st St & Maricamp Mow top, slopes, and bottom West to sidewalk, South to R/R track, East to fenceline & North to power poles. Weedeat fenceline, around poles, structures, signs, etc Edge East side sidewalk & driveway,	14	\$ 75.00	\$1,050.00	\$ 75.00	\$1,050.00	\$ 50.00	\$700.00	\$75.00	\$1,050.00	\$165.00	\$2,310.00	\$117.00	\$1,638.00	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	298.77	\$4,182.78
PWD/SE 70	SED #1 SE 37th Ave from Ft. King St to SE 4th St Mow both sides from the road to property lines. Weedeat fencelines, around trees, structures, etc	14	\$ 95.00	\$1,330.00	\$ 120.00	\$1,680.00	\$ 150.00	\$2,100.00	\$120.00	\$1,680.00	\$185.00	\$2,590.00	\$219.25	\$3,069.50	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	\$333.00	\$4,662.00
PWD/SE 71	SED #2 4300 Blk of SE 8th St (Southside lot under powerlines) Mow the entire lot under powerlines—weed-eat fencelines, around poles, ditch line in the middle of the lot. Mow outside the North fence to the road. Weedeat fenceline	14	\$ 95.00	\$1,330.00	\$ 120.00	\$1,680.00	\$ 150.00	\$2,100.00	\$120.00	\$1,680.00	\$185.00	\$2,590.00	\$306.60	\$4,292.40	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	\$333.00	\$4,662.00
PWD/SE 72	SED #3 3320 SE 17th St (Road next to YMCA) Mow both sides of the South from 17th St to the parking lot at the end, from the road to the treeline/ property line. Weedeat around trees, signs, poles, structures, etc.	14	\$ 95.00	\$1,330.00	\$ 120.00	\$1,680.00	\$ 200.00	\$2,800.00	\$120.00	\$1,680.00	\$185.00	\$2,590.00	\$273.70	\$3,831.80	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	\$333.00	\$4,662.00
PWD/SE 73	SED #5 SE Magnolia EXT from SE 16th Pl to SW 10th St Mow North side from 16th Pl towards 3rd Ave up to treeline. At the NE corner of 3rd Ave & Magnolia mow from road North to R/R tracks and East from 3rd Ave to treeline including ditch & flat area. From 3rd mow the entire ditch to SW 10th St. Weedeat around any trees, signs, poles, structures, etc.	14	\$ 95.00	\$1,330.00	\$ 120.00	\$1,680.00	\$ 300.00	\$4,200.00	\$120.00	\$1,680.00	\$185.00	\$2,590.00	\$281.35	\$3,938.90	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	\$333.00	\$4,662.00
PWD/SE 74	SED # 6 SE Magnolia EXT from SW 10th St to SE 16th Pl Mow South side from SW 10th St to SW 12th St. Mow behind the guardrail at 12th St then the entire ditch to SE 3rd Ave. Mow the ditch as the whole on the SE corner of 3rd Ave & Magnolia then from the road to treeline to 16th Pl. Weedeat around trees, guardrails, signs, poles, structures, etc.	14	\$ 95.00	\$1,330.00	\$ 120.00	\$1,680.00	\$ 300.00	\$4,200.00	\$120.00	\$1,680.00	\$185.00	\$2,590.00	\$481.90	\$6,746.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	\$333.00	\$4,662.00
PWD/SE 75	SED# 8 1100-1200 Blk of SE 29th Terr Mow both sides of 29th Terr from SE 11th St South to SE 12th St & Small piece on the west side between SE 12th St & SE 13th St. Weedeat along fencelines, structures, signs, etc.	14	\$ 95.00	\$1,330.00	\$ 120.00	\$1,680.00	\$ 250.00	\$3,500.00	\$120.00	\$1,680.00	\$185.00	\$2,590.00	\$93.15	\$1,304.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	\$333.00	\$4,662.00
PWD/SE 76	SED #10 Mow Ditch and flat area along North side of SE 31st St overpass from Lake Weir to R/R tracks. Enter dead end of intersection of SE 30th St & SE 28th Rd. Weedeat fencelines, along overpass wall, around trees, structures, etc	14	\$ 95.00	\$1,330.00	\$ 120.00	\$1,680.00	\$ 600.00	\$8,400.00	\$120.00	\$1,680.00	\$185.00	\$2,590.00	\$231.40	\$3,239.60	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	\$333.00	\$4,662.00

PWD/SE 77	NEXT TO DRA 237, MOW ON THE EATSIDE THE ENTIRE LOT FROM SE 19TH ST TO SE 21ST PL TO FROM DRA FENCLINE TO PARCELS 2920-012-001 & 3055-002- 001	14	\$ 95.00	\$1,330.00	\$ 120.00	\$1,680.00	\$ 200.00	\$2,800.00	\$120.00	\$1,680.00	\$185.00	\$2,590.00	\$93.15	\$1,304.10	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	\$333.00	\$4,662.00	
PWD/SE 78	Mow entire parcel 2981+003-006 located at SE 31st St between SE 33rd Ct & SE 34th Ct. Mow from road edge to South property line. Edge sidewalk, weedeat to fencline, trim around trees.	14	\$ 95.00	\$1,330.00	\$ 120.00	\$1,680.00	\$ 200.00	\$2,800.00	\$120.00	\$1,680.00	\$185.00	\$2,590.00	\$104.85	\$1,467.90	\$ 105.00	\$ 1,470.00	\$150.00	\$2,100.00	\$333.00	\$4,662.00	
ANNUAL TOTAL BID AMOUNT			\$124,460.00		\$	\$127,610.00		43,990.00	\$	\$119,070.00		\$182,700.00		\$253,652.70		\$114,660.00		\$163,800.00		\$412,868.82	
3 - YEARS TOTAL CONTRACT AMOUNT			\$373,380.00 \$.		\$82,830.00 \$431,970.		131,970.00	\$357,210.00		\$548,100.00		\$760,958.10		\$343,980.00		\$491,400.00		\$1,238,606.46			